A & 0l & AFE B Al A

cHPlr AEIIsst SADIEES (EERSED)
SA - FHH . O(32) - HRAY - BES Abo )3 o iImE=ST
&t 46,666,924 44,096,899 2,570,025
= 510,100 509,500 600
= 11,942,000 11,640,000 302,000
= 1,829,690 1,789,430 40,260
= 700,000 100,000 600,000
o 27,045,134 25,417,969 1,627,165
CH 4,640,000 4,640,000 0
SAITHA 13,753,313 12,421,105 1,332,208
= 500,000 500,000 0
= 761,000 761,000 0
== 67,000 67,000 0
BN 700,000 100,000 600,000
o 11,725,313 10,993,105 732,208
NZIbss TADIEES 11,240,268 11,408,060 A167,792
= 761,000 761,000 0
BN 700,000 100,000 600,000
i 9,779,268 10,547,060 ANTB7,792
S AIEESAY 4,254,733 5,022,525 AT67,792
401 AIEBIZL S008I 4,254,733 5,022,525 AT67,792
01 Al&H| 4,242,208 5,010,000 AT67,792
OXlel2=10t= =X
137,208,000 137,208 0 137,208
OHLHAA ATHAIA 0F2+AE AXIAE
95,000,000 95,000 0 95,000
OIS r=t=R=IFSEMbN; o 0 1,000,000 21,000,000
HEA TIYHE 32X 600,000 0 600,000
BN 600,000 0 600,000
401 Al EHIZL LY 600,000 0 600,000
BN 600,000 0 600,000
01 Al&H| 600,000 0 600,000
OFY A TIAHY XIS AL
600,000,000 600,000 0 600,000
= 600,000 0 600,000
AT =S ALY 2,513,045 1,013,045 1,500,000
= 500,000 500,000 0
< 67,000 67,000 0
i 1,946,045 446,045 1,500,000
AR SHIAZID] 1,611,984 111,984 1,500,000
403 HXIHMS A= 1,500,000 0 1,500,000
02 ZI12S0ItHEHk=E 1,500,000 0 1,500,000
OZ=AMM=EAIS U= S
= ,500,000,0002 1,500,000 0 1,500,000
SAK T ZAITHAHANS 66,061 66,061 0
207 HAFINLH| 0 19,000 A19,000
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2A:

F M

Al & &1t
A2

Sl SANMEE A (CHol: X 2)
SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o iImE=ST
01 ¢72E4| 0 19,000 A19,000
OS4HKT SAIHY B4t =289
0& 0 19,000 A19,000
401 A &EHIZL LY 19,000 0 19,000
01 AlIEH| 19,000 0 19,000
O=24K 7 ZAITHAY 245t & ~3HEY
19,000,0002 19,000 0 19,000
SEMNEAS 28,225,610 27,728,290 497,320
s 8,891,000 8,891,000 0
= 1,464,500 1,464,500 0
o 13,230, 110 12,732,790 497,320
CH 4,640,000 4,640,000 0
ENEALS 14,078,610 13,581,290 497,320
o 9,438,610 8,941,290 497,320
CH 4,640,000 4,640,000 0
SENLEAMSE 2 5,217,690 4,784,090 433,600
201 et 3| 151,560 122,760 28,800
02 2224l 124,200 95,400 28,800
OsEsSgdHQRISSEY) &3
9,000,000 * 12 108,000 79,200 28,800
202 44| 9,600 4,800 4,800
01 =2LHOAHI 9,600 4,800 4,800
OsENg e
200,000 *401x 122 9,600 4,800 4,800
401 AIEBIZL S008I 3,056,530 2,656,530 400,000
01 AlEH| 3,047,000 2,647,000 400,000
OFSX T SAHSHLAILE SKIZIA
& 200,000,000 200,000 100,000 100,000
OLICHHANS A SEFIE A
1,320,000,000& 1,320,000 1,020,000 300,000
SOHENLAIL (A TFAI) (BEALY) 2,213,720 2,150,000 63,720
401 AEHIZL O] 2,213,720 2,150,000 63,720
01 AlEH| 2,206,520 2,142,800 63,720
O022s)| NESHLAIS (ME2H HZOS
) 63,720,000 63,720 0 63,720
B A EIHE A 14,147,000 14,147,000 0
s 8,891,000 8,891,000 0
< 1,464,500 1,464,500 0
i 3,791,500 3,791,500 0
ANZHELSGA (SEF ) 400,000 400,000 0
s 280,000 280,000 0
< 36,000 36,000 0
i 84,000 84,000 0
201 et | 18,000 60,000 242,000
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A XNEEE D
M SENLAMS
o UBLSAMHESIHE A (cHol: M)
SA - B SR(EH) - HIRAY - B2 o Il H o G[ImE=ST}
s 12,600 42,000 229,400
= 1,620 5,400 23,780
i 3,780 12,600 28,820
03 A2 ZH| 18,000 60,000 A42,000
obtseld 84 U=
600,000 %300 0t=2*13] 18,000 60,000 A42,000
s 12,600 42,000 229,400
= 1,620 5,400 23,780
i 3,780 12,600 A8,820
207 AN 118,000 188,000 270,000
s 82,600 131,600 249,000
= 10,620 16,920 26,300
i 24,780 39,480 A14,700
01 A= 4H| 118,000 188,000 270,000
OAtgzte| & 2% 248
15,000, 0002 x2)H 2 = 30,000 60,000 A30,000
s 21,000 42,000 /21,000
= 2,700 5,400 A2,700
i 6,300 12,600 26,300
OsZ&Ege 24dg 02l 0 40,000 240,000
s 0 28,000 /28,000
< 0 3,600 23,600
i 0 8,400 A8,400
301 LEt2d= 132,000 20,000 112,000
= 92,400 14,000 78,400
= 11,880 1,800 10,080
i 27,720 4,200 23,520
11 EALHIXIRAZ 132,000 20,000 112,000
O=pldztdst AASE WS
10,000,002 42 40,000 0 40,000
s 28,000 0 28,000
= 3,600 0 3,600
i 8,400 0 8,400
O=03sH 54 U=
15,000,0002!%23] 30,000 0 30,000
s 21,000 0 21,000
= 2,700 0 2,700
i 6,300 0 6,300
OlISesIt 24 U=
21,000,0002%23| 42,000 0 42,000
s 29,400 0 29,400
= 3,780 0 3,780
i 8,820 0 8,820
FHeHE & FHEZoHA 1,187,084 1,083,684 103,400
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2A:
X{XH -
o /e

cH):

SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o iImE=ST
= 10,100 9,500 600
< 62,190 54,930 7,260
i 1,114,794 1,019,254 95,540
HE FAHSZMA 1,152,084 1,048,684 103,400
= 10,100 9,500 600
== 62,190 54,930 7,260
i 1,079,794 984,254 95,540
BIZEHIALY 64,800 42,600 22,200
< 19,440 12,780 6,660
i 45,360 29,820 15,540
402 QIZERHE0| A 64,800 42,600 22,200
< 19,440 12,780 6,660
i 45,360 29,820 15,540
02 CIZEXHEAIH 2 (0| X THEA) 64,800 42,600 22,200
ORI EHIAIY 64,800 42,600 22,200
02EIXIS BIE HUI(EN)
1,200,000 *29= 34,800 24,000 10,800
== 10,440 7,200 3,240
i 24,360 16,800 7,560
0ZdI0IEXIE BIE HUI(ENA)
600,0002*50= 30,000 18,600 11,400
< 9,000 5,580 3,420
o 21,000 13,020 7,980
SSTE XA (XHRIA) 110,000 60,000 50,000
402 DIZHXHE01H 110,000 60,000 50,000
01 CIZFXH= A B2 (XERITHE) 110,000 60,000 50,000
OHtE T S 22| RIRAAS
110,000,000 110,000 60,000 50,000
AIOHHAIR A SEOHEANY 630,000 600,000 30,000
401 AIEBIZL S008I 30,000 0 30,000
01 Al&H| 30,000 0 30,000
OHAMRA AMF M-S & Gt=E JCIXE
293 g 30,000, 00081 30,000 0 30,000
403 XXM SXH=01H 600,000 600,000 0
02 I 2SS N2 AE AL 600,000 600,000 0
OHAIRA AE 2 SIUUFE HEAIS
82x=2 600,000,000 600,000 600,000 0
OIAHH] XIZAIY 1,200 0 1,200
= 600 0 600
== 600 0 600
402 QIZERHE0|A 1,200 0 1,200
= 600 0 600
== 600 0 600
02 CIZEXHEAIH 2 (0| X THEA) 1,200 0 1,200
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2A:
I =IOt 1
o©°He: s0E =HEENN

SA - BB SR(E) - HRAY - BES Ofl kot J| & o GImE=ST;
O2023EHSE HIHANHK HZ=XE OIAIH] XIZ A
e 400,000 %30 A 1,200 0 1,200
= 600 0 600
== 600 0 600
OlcHMEr AFEFE 3,187,220 2,709,220 478,000
s 2,290,000 1,988,000 302,000
& 236,000 203,000 33,000
o 661,220 518,220 143,000
OlcHder AIHFE S 23t 109,220 43,220 66,000
Oleidsr 249 109,220 43,220 66,000
207 AN 88,000 22,000 66,000
01 H2E249| 88,000 22,000 66,000
Os0HE HUXA MEN2A HZASE(ME
OISALE) GIBIHE =&
22,000,000 *3A! 66,000 0 66,000
XY MEHA O 3,078,000 2,666,000 412,000
s 2,290,000 1,988,000 302,000
== 236,000 203,000 33,000
= 552,000 475,000 77,000
ASKF sHE FUX S MBI AL (S0t 201,000 0 201,000
SAH)
s 147,000 0 147,000
& 16,000 0 16,000
o 38,000 0 38,000
403 REXISHMISK=0]H 201,000 0 201,000
s 147,000 0 147,000
& 16,000 0 16,000
o 38,000 0 38,000
02 S| 2S0ICHEHAHEE (&AL I 201,000 0 201,000
O&SKT sHE FUYXY MEHAH X
A (MIE0I2AMY) 201,000,000& 201,000 0 201,000
s 147,000 0 147,000
& 16,000 0 16,000
o 38,000 0 38,000
UEXT SHE FHUXA ME0IA INEAR (A0} 211,000 0 211,000
SAI)
s 155,000 0 155,000
& 17,000 0 17,000
o 39,000 0 39,000
401 Al&HIZL 20| 211,000 0 211,000
i 155,000 0 155,000
& 17,000 0 17,000
o 39,000 0 39,000
01 Al&H| 211,000 0 211,000
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M XSLE
M OlchHdEef AIZ=&
Eh2l FHUKA MEWH W (CHRl: &)
SA - BB SR(E) - HRAY - BES Ofl kot J| & o Hnz2
OLEXNT sHE FHAUXSG MEHA HE
A (NS0 AI) 211,000,000 211,000 0 211,000
= 155,000 0 155,000
== 17,000 0 17,000
i 39,000 0 39,000
NEZgyd Jgas 155,320 0 155,320
=B HOAL EF 155,320 0 155,320
KIEI&AOISEINFE 22 5,320 0 5,320
201 et | 2,120 0 2,120
01 AtR2elt] 2,120 0 2,120
O=s2=8 NE 60,000 +25| %11 A 1,320 0 1,320
O=gt| 8,000 +201x50A! 800 0 800
202 44| 3,200 0 3,200
01 =LHOIHI 3,200 0 3,200
OTFE 23 200,000 %201+82 3,200 0 3,200
KIEI&AI0IEI X Ak 150,000 0 150,000
403 XIS SXH=201H 150,000 0 150,000
02 B 2SOICHEHR2 X 2 AN I 150,000 0 150,000
OXIEIAAOISEI Metetd FaerE It
150,000,000 * 1Al 150,000 0 150,000
HRES(XELH) 3,777 0 3,777
HEXE 3,777 0 3,777
2x3eEza 3,777 0 3,777
802 Btat=DIEt 3,777 0 3,777
01 =NExZeEa 1,022 0 1,022
020223 sHEZ0HQIE JHEAS O At
c4oh 33,970& 4 0 34
020223 sERFALEE FLXJAY 0
A=A R 987,3102! 983 983
02 Al - SHIEXZEH2E 2,75 2,755
020229 s0E BIREHIAIY &M (0| X
LS 2,743,880 2,744 0 2,744
020223 sHEZ0HQIE JHEALS O At
Aoy 10, 1902 1 0 I
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